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Fun 82T quarietwise, Arcl Asymn: Bearm ON, Laser OFF

Fun G827 quanetwise, ISba2 Acym: Baam ON, Laser OFF

Flun GOST cuanebwise, DSbg2 Asym: Baam ON, Lasar OFF
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Flun GB2T quarnetwise, Side Fingar Aaym: Beam ON, Laser OFF

[ qewhdsiay_Beemi_anD s ing |
Erinsa P |
Mean nolrrz

| Eaol Dy 18- F

e m OoH R R oZ M
5 5 8 88888 B8

Flun G827 quarnetwise, LISba1 Asym: Baarm ON, Lasar DFF

Flun G827 quanatwise, DSba1 Asym: Baam O, Lasar DFF
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Fun 5827 quartebaise. Top Fagper Asyri: Baam O, Latar OFF
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Acc0 Asym (ppt): -482.28 +/- 548.17
USbg1 Asym (ppt): 0.00 +/- 6.51
USbg2 Asym (ppt): 0.59 +/- 9.08

DSbg1 Asym (ppt): -8.14 +/- 11.74
DSbg2 Asym (ppt): -4.76 +/- 10.34
Top Finger Asym (ppt): 8.58 +/- 15.22
Side Finger Asym (ppt): 17.72 +/- 10.61
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Run 5327, quartetwise: USbg1 vs time
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Run 5927, quartetwise: DSbg1 vs time
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Run 5327, quartetwise: vertFing vs time
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Run 5327, quartetwise: USbg2 vs time
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Run 5927, quartetwise: DSbg2 vs time
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